(2)&(T2—-2)

(FRL254)
3t E x BAEHELCE

waw | prx| BB |1 R | HER ER | 28 | e | s

e | U | BUE | pow |8 AT e u| B0 san

|t T
£ H 8.2 100] A19 2.2 1.0 234 10.8 12.6 40 3.2 0.8 53 187
s B2 8.1 106| A25 1.6 0.8 21.1 10.5 10.6 42 3.6 0.6 47| 163
BN 79 93| Al4 1.1 0.6 19.6 6.8 13.0 2.8 2.3 0.6 45 172
ERmEm 9.0 7.9 1.1 40 20 19.8 40 15.9 20 - 20 5.0 1.38
e 8.1 75 0.7 - - 21.0 12.5 8.8 5.0 5.0 - 45 190
3w A5 BT 9.3 9.1 0.2 - - 12.7 - 12.7 - - - 56 1.91
= InET 79 97| A18 - - 435 - 435 - - - 29[ 180
BT 7.1 11.4]  A37 - - 12.3 - 12.3 - - - 40| 1.84
AT 44 21.1 A16.8 - - - - - - - - 46 097
J\EEET 5.6 16.8] A11.2 - - 15.4 - 15.4 - - - 34 122
=D1L 36 142| A106 - - 58.8 - 58.8 - - - 31 045
EA=IIIES) 47 17.4] A12.7 - - - - - - - - 25 127
1 BT 15 116 A41 - - 7.2 - 7.2 - - - 50| 272

<EHELEOEWBFHE>

H4-FET - 3R - B IR = 1 M DB 3108 1 BIRAD A O x 1,000
BREME=(1EHOEER—1EROETE) 1071 BEAEDAD X 1,000

EER(BARWER ATRER)=E(BR- ALK/ HE (HBE+EE) # x 1,000

AR CERGFERETCE REHFERECR)=ARECHEFER - BHFHFERETE).HEH x 1,000
EERATE TS R =T IR 22 LUk D SEEE S+ B EAST A R B T8 tH BE(HH A 3+ 0T 4R 78 2258 LA 1% D B 78 30 %K x 1,000
D4R 2 258 LAt D FE R = TR 22:8 ARG D SEEE SR HH B (B A4k + 3R IR 22:B LIBE D SEEESR) x 1,000

KEFIAOFH,
EERVEOHIERT, EEFBHELKIE.

<EHEHICHW:=-ADODHE>
2 : TR24F10A1 BREHTA O (BBEEHER)
BB RUHEH - FRE24F1081 BRAEHTAD (BHEER)




